

Addition of Integers

Work out the following: (remember to apply the correct rule)

$$1) (+30) + (+43) =$$

$$2) (+31) + (+82) =$$

$$3) (-84) + (+21) =$$

$$4) (+70) + (+57) =$$

$$5) (+68) + (+16) =$$

$$6) (-8) + (+36) =$$

$$7) (+2) + (+16) =$$

$$8) (-84) + (+35) =$$

$$9) (+85) + (+58) =$$

$$10) (+77) + (+46) =$$

$$11) (+71) + (+41) =$$

$$12) (+74) + (+9) =$$

$$13) (+86) + (-91) =$$

$$14) (+35) + (+90) =$$

$$15) (+71) + (-55) =$$

$$16) (+38) + (+57) =$$

$$17) (-37) + (-2) =$$

$$18) (+3) + (+51) =$$

$$19) (+84) + (+12) =$$

$$20) (+86) + (-31) =$$

